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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 60/0S/1, Set - | A | on the Answer-Book.

(a)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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SCIENCE AND TECHNOLOGY

(e @ W)
(212)
Time : 2% Hours] [Maximum Marks : 85
T 2 "] [quries : 85
Note : (1)  All questions are compulsory.
(i1)) Marks are indicated against each question.
et : @) |l ueT afEd
(i) Y® W97 & 3 ITh M fau M E |
1 Which one of the following is an alloy ? 1
(A) Galvanized iron sheet (B) 18 carat gold
(C) Cinnabar ore (D) Silver nitrate

frfafag & § @& fageang &7
(A) @% & fedgd a6l (B) 18 & @I
(C) o TR (D) fawex wEe

The people living in countries near Arctic and Antarctic regions are found 1
to suffer more from skin cancer, because of

(A) Extreme cold weather

(B) Exposure of higher level of ultra violet radiations

(C) Fair complexion of the people

(D) Higher level of industrialization

Mehfedh SlX SieThicd &l & he Red 9 o W@ o Aferaal § @l &1 b
3ty BN B B § -

(A) orafes 33 HEH @1 BT

(B) S@@ WX W ST fafeon o SErR g

(C) =formal @1 affees TRT &

(D) orfyss wWX 9X oferfieer &1 &

Sodium is less metallic than potassium because 1
(A) Size of sodium atom is less than that of potassium atom

(B) Tendency to lose electron by potassium atom is more than that of sodium atom
(C) Metallic character decreases in a group from top to bottom

(D) Tendency to gain electron of potassium atom is more than that of sodium atom
qifsad, e & gaar ¥ &H gifds ¢ e —

(A) U@ TN @ AT § eI U B OAHN BRI ¥

(B) difsam uAm] & ga § Wi e § e we @ ugha orfues §

(C) o & W ¥ 99 99 W uifas T g2

(D) wifeaw axam) &1 o § Wi awEn) @ seee TE B B ygha o ¥
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4  When some dust particles fall into our eye during dust storm, there is 1
immediate flushing of tears from our eye to wash them out. This reaction
is controlled by
(A) spinal cord (B) cerebrum
(C) medulla oblongata (D) cerebellum
g B Al % T AG F gA & U g1 W BRA 39 B (b &b g
i@ @ ey P @R ¥ 9e gRGE RERE A ®

(A) 6T & (B) wufaws gw1
(C) wg@n smedlfel & (D) ergafass &
5  Which of the following practices for growing crops is not part of crop 1

rotation method ?

(A) Crops requiring more water are grown before crops requiring less water.

(B) Crops requiring more fertilizers are grown before crops requiring less fertilizers.
(C) Deep rooted crop is grown after smaller rooted crops.

(D) Leguminous crop is grown between two grain crops.

®EA I & AR diel § ¥ B alw a9 G % SgER TRl e ?

(A) S1fyes ST ®T SATThdT aTel BaW BH A Bl AT Irell Ba@l o TEd IS oA & |
(B) rfe @1g @ STELd aTell Bad! dl &Y @G ®l STeid didl Bad! & Yed ST ST 8 |
(C) T&Ed oI Il BHA! Bl ST IS Il BHA! b §IE ST ST 2

(D) T el BEAl & 9 BARK BEA Bl AT Al & |

6  To protect tooth decay you are advised to brush your teeth regularly to prevent 1
(A) bacteria eating tooth enamel
(B) formation of salt in our mouth
(C) formation of acid in our mouth
(D) pH going above 5.5 in our mouth

3d a9 ¥ 999 & o emuel At w9 9 gial @l 9T B Bl A o oKl § -
(A) 3@ & WA B SfrfEr g0 @9 § s99 & foo

(B) TR Y& ¥ @A I ¥ kA & fow

(C) s g ® o &4 ¥ s & foag

(D) X ¥& ¥ pH & 5.5 ¥ o1fys 2 & U & fow

7  The characteristic of diamond which makes it very brilliant when it is 1
properly cut and polished is -
(A) three dimensional network of covalent bonds
(B) high density
(C) high rigidity
(D) high refractive index
B BN g IR T & BT ST TG BB UMW B U 3H AAMID THHIN
ERIGIIE I
(A) TE-Gdeih STE-dl & oid &1 13 T3 FIeTamy e
(B) = w@
(C) T gedr
(D) ST UadHih
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8  Which one of the following is the most important advantage of having eight 1
tyres instead of usual four tyres in a truck carrying heavy loads ?
(A) To decrease the friction between tyres and ground.
(B) To decrease the pressure of load on the ground.
(C) To easily negotiate sharp turn on the road.
(D) To reduce fuel consumption.

SET YR &M 91 ¢ § SMMd 9X 9 TRX YART &R & M UX 878 TR
TN B @ (rAfaiad § ¥ 999 WU @H b § 7

(A) T qum SHE & dE g9 HH BT

(B) WM WX HIX & I HH HATI

(C) 9% WX A HIE & SN ¥ U HIAT

(D) 3a9 @ WUd ®H BT

9 A uniform wire of 48Q 1is cut into four equal parts. The equivalent 1
resistance of their parallel combination will be :
48Q % U HHM AR & IR S AEN H BT TN B 3T AR % TR
HH W AN B AR g gem —

(A) 3Q B) 9Q
€©) 20Q (D) 36Q
10 Name the kingdom of life to which ‘Mushroom’ belongs. State two 2

features of this kingdom.

SH S 1 A gaisy frad gedr SEia §1 39 S @ &1 fa9an Sasy |

11  What is the gene combination which results in the formation of blood 2

group required in the following cases ?

(1) Safest blood group for donation to accident victim of an unknown blood group.

(ii) A person with blood group who can receive blood from any of the four
blood groups.

frefafea Rufaal & e @@ @Rl & 9 @deH &1 5 7

(i) gHeT @ DR iR SHer @ @9 §d T8l 5, ® dold ad S
% fau gifda @ 98|

(i) 39 (& 996 & Al Sl O @ G961 9 d fhdl @ W1 W 9 @
bl 2|

12 A child is not likely to suffer from the disease ‘mumps’ in future if he 2
has already suffered from this disease in the past. Explain.
S g Hl fH TAger U e & B gwl ¢ o { g8 AT B ¥ BN @l
Hure el Bl B 1 e wisg |

13 State Archimedes principle. What is the condition for floatation of a body 2
in a liquid ?

MichHSIST &1 g ARyl U a9 H fdl 9% & o1 & g &1 o 87
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Why are nuclear power plants being preferred over fossil fuels based
power plants ? Give two reasons.

STTSThd SATeH 381 UX SMeiia ford €@l & T UX qTA] Soll oena faega
A H @ glgar & S 8¢ & HRY ey

It is advisable to store fried snacks in an air tight container in order to
maintain their good taste and smell for long time. Explain.

Tl g3 IS DI TGS BT W9 GHT qb AW @R AR I Y @A H W,
3% 'l 98 RRw H @E @ wee o 9 g | g9EEd|

Draw a ray diagram to explain formation of small and erect image of
vehicles coming from behind by the rear view mirror of a car.

W% ¥ oW IId dredi @ dEH & fT B ¥ @ U R B 9 @Y ufafas
I B TH (60 oM@ Wid H GHsmEy |

A doctor found that a patient is suffering from fever, sore throat, cough,
headache, running nose, sneezing, body pain and fatigue.

(i) Identify the disease patient is suffering from.

(i) What is the cause of this disease ?

(iii) Is the disease communicable or non-communicable ?

(iv) What precautions should be taken to prevent the disease ?

Th S 7 Uh WM § SO, T & @y, @y, Y o, 7 981, 89, iR
¥ 3 oY g%Ee & A Ul

(i) I & I B YgAE HiT|

(i) 3T T BT T BRI &7

(iii) @ g& AT GehtHeh STUAT STHHMED & ¢

(iv) 3@ T ¥ su9 & U wn gl  idHr iy ?

(a) What are derived units ? Name the physical quantity whose derived
unit is S°!. Write the special name assigned to this derived unit.

(b) Derive the SI unit of force in terms of base units.

(a) g "G 1 & ¢ fopw wfife iyt &1 g Aee ST R 7 39 o wEw
& e man faqfire 9@ fafeq)

(b) s &% SI Al HI FERYA AHhbl & U&I H FAd= DI

What is meant by heterogeneous mixture ? Name any three types of
heterogeneous mixtures. Write one example of each.

foomry fagor @ @ otfhur 3 7 fawmil fygor & [l 99 e & W fafa)
Jd%h Bl Uh-Udh IV farau|
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20 Draw a diagram of sectional view of human brain. Name and label its 4
following parts :
(i) Whose infection causes the disease meningitis.
(i) Which controls beating of heart.
(ii1) Which co-ordinates muscular movements properly.
(iv) Which helps us to memorize facts and figures.
e qRaes B HE B A Wikl 399 WEaigd 9r 6 M Sifed iy
(i) f5E® Gwaor & &R Af<gfed W 8 S B
(i) < zea-wifq Feita & 3
(iii) < zAr usha wifq fopametl @1 @€ &1 ¥ =T &Xar ® |
(iv) o &5 aERfd ofR s a1@ Y@ ¥ derEdl &l &l

21 (a) Explain why fishes living in a lake of very cold region do not die 4

despite freezing of lake during extreme winter.

(b) Explain why some people find their nose bleeding in hilly region at
high altitudes.

(a) §8d s & H Rog e 3@ § & Il A8iaal ofdfad 38h b B
A B SET U W R TRl WAl § 7 WHsEyl

(b) ;@é%ﬁﬁmmwwwﬁﬁﬁaﬁwﬁwﬁaﬁw

? gHHATSU

22 State three significant features of Newton’s third law of motion. How does 4
third law of motion explain walking on the surface of earth?

]EA H A b deX o % A9 Aeaqel |eu Sasul e iy fe T
& daa e e yer & gsll @ gas W g W 9dd 99 § 7

23 Differentiate between ‘Alkenes’ and ‘Alkynes’. Write the name of (i) first member 4
of alkene series and (ii) first member of alkynes. Draw their structures.
Teehid U7 Uehizd ® oy faiau | (i) Tenia Soft & w9 9e& an (i) Tehiz &
JIH G &1 A9 faRau | 39! S@ad difag|

24 A substance ‘X’ is added in the ingredients of the cakes in order to 4
make them fluffy and soft. Identify the substance ‘X’. How is ‘X’
prepared ? How does it make a cake fluffy and soft ? Explain.
Hth B (YRR AT 3 99 99 & ¢ SHp duehl § Th qqrd ‘X STl o
g1 e X @ 9EEH Bl ‘X B fRE YeR 9l S g ¢ a8 ‘X ke @l
P B YWRR §am SR 9 11 & 7 AT DI

25 Explain the following : 4
(i) We keep soft drink bottles in a box containing ice for cooling and
not water at 0° C.
(ii)) Mercury is used in clinical thermometer instead of other liquids.
frrefafad & e aivg -
(i) 95 9@ @ Iadl B ST B & WU ¥ UH U fo H T@a © foew
6 @ el 5 7 % 0°C W
(i) sTeell gwiHer & o af & 9 9 & YA &id &l
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(1)
(ii)
(1)
(ii)
(a)
(b)

(a)
(b)

A glass tumbler contains 90 g of pure water. Calculate the number
of molecules of water present in it.

Nitrogen forms three oxides : NO, NO, and N,O; on reacting with
oxygen. Show that these reactions obey law of multiple proportions.
T big & Rad 7 90 g 8 Ul §1 3OH IURYA S b S DI deA
fiehldd ST

A3ZIe, SIS & STHAT i A i & Siadigs a9l & : NO, NO,
3R N,O; | 391isq o6 & arfichard T oo oM &1 STgaRe &l & |

Explain two ways of fixation of atmospheric nitrogen in nitrogen cycle.
Differentiate between nitrogen assimilation and ammonification.
3o b H AgHSAE g R & a1 fafEl i @ il
e @A 3 STMBT § <R fdfay |

Explain the principle of working of an AC generator. Draw its labelled
diagram. What is meant by 220 V and 50 Hz AC ? Explain.

ATl ST S o BT & g &l ST SN | S8 ATHihd &= Qifay |
220 V @1 50 Hz @l SmEdl 9rT 8 &1 aed g ¢ Srel i

(a)

(b)

(c)
(d)
(a)
(b)

(c)
(d)

Why is balanced diet essential for healthy living ? Name the
nutrients which must be part of balanced diet. Give one example
of each.

Deficiency of which specific nutrient in the diet causes the following
diseases :

(1) Anaemia (ii) Kwashiorkor (iii) Rickets

Why are we advised to include raw vegetables in our diet ?

Which nutrient in your diet will not be digested if the enzyme lipase
is not secreted by pancreas ?

Y S & U d@gfaa SRl oasdd ¢ ¢ Sgiad e @ STasds
a9 I 99 9giel % AW faRaul Y& @l Uh-Tdh IaEI0 SNd|
AN e ¥ fopet fafire dives @l & & & s ffafed W 2 § -
(i) ‘oredqar, (i) @@ agr (i) fehed

T oY e H wedl dlewal Hl INHA HT Hl Hl qae af ol § 7
gie ST ¥ WIEUS USEH @ A 7 8 Al AR & A4 UNh ad
H1 U TSl B Y

Describe the formation of ionic bond between sodium and chlorine atoms
to give sodium chloride. Explain the properties of sodium chloride with
respect to its electrical conductivity and boiling point.

QIfETH 3R FANE TSl %S9 A ey a1 ¥ |iedq wiEs a4
B IO BT | WIfSTH FAZS & [UrgH FH! [ Tl S Fqoieh & HaH
q TRy

Erm
s

6



